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Rational Equations

Focus on...

« identifying non-permissible values in a rational equation
* determining the solution to a rational equation algebraically
« solving problems using a rational equation

Time to ACTIVATE prior knowledge on th
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STRATEGY!l or demo onstrating effective number sense.

Clear the Frac s from a Rational Equation. If your equation has rational
e‘ip sions, mult plyb th d fth q atio: by th least common denominator
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Warm-Up...
5
Simplify the following expression: — z+ 3
-4 z2-16
Solve each of the following:
e __x ____x-1 10 3 _10x+1
xE3 o aHT 24 jox+21 x+3 5 3x+9

Time to start applying some of our number sense!!

8. The sum of two numbers is 25. The sum
of their reciprocals is % Determine the
two numbers.
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Poor Tyler could use your help...

Tyler has begun to solve a rational
equation. His-work is shown below.
5x

x— 1 x+1
@1] —3(x + Dx — 1) = 5x(x — 1)
‘/2x\+/2—l3/7(2+3=51(2—5x

6=8X2—7X—5

Erin and Andrea set off at the same time on a 30-km walk for charity.

Erin, who trained all year for this event, walks 1 km/h faster than
Andrea(Erin finishes the walk 1 h ahead of Andrea. Mow fast was
each sister walking, and how long did it take for each sister to finish the

walk?

Would something like this chart help organize things?

Distance Rate Time
(km) (km/h) (h)

EFN 30 el
Andreas 30 +

(3t [ 300
Eal b4

20+ A(eH) =30
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The Olympic world record for the women's 600m speed skatirfg
Olympic trials Jean knew that if she skated 3m/s faster she could
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How long would it take to hll the pool 11 ‘
only hose B were used? 1

14.'Two kayakers paddle 18 km downstream
With the current in the same time it takes
them to go 8 km upstream against the
current. The rate of the current is 3 km \5

/h
a) Complete a table like the following
in your notebook. Use the for mula
distance = rate x time.
Downstream |

‘ 3
T E GO (X X L (P>
b) What equation could you use lo‘ﬁnd the ' 6(x 5)

rate of the kayakers in still water?
¢) Solve your equation.

d) Which values are non-permissible?

Dld You Know?

are uavelllng with the current, add the

the current to your rate of speed. When you
ling agalnst the current, subtract the speed
of | neny'{, ;
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Jerome rows his boat 24 km downstream and back to where he
began. When the average speed of the current is 2 kmyh, J§rome
can complete the journey in 9 h. What is Jerome’s ayerége Yowing
speed in still water? E

Distance Rate Time
(km) (km/h) (h)
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Jerome rows his boat 24 km downstream and back to where he
began. When the average speed of the current is 2 ke/h, Jerome

can complete the journey in 9 h. What is Jerome’s aveyage rowing
speed in still water?
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